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Bz (Favy| KFEL | S BEF 4 24 | @M% | FC | YDS| E£#H)| TD
1 B PER 13 |0 EPR 4 9 2 59 | 8.4 0
2 B EDZE KR 12 |£3# KH 4 7 1 45 | 1.5 0
3 B Bt 23 |KE #HE 3 8 1 49 | 7.0 0
4 B BAX 49 |k B 3 15 0 66 | 4.4 0
5 B FEK 21 |3 B 4 9 0 37| 4.1 0
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IEGL | Tavy| KREHE | BF EF 4 24 | @ | FC | YDS| E£8)| TD
1 B EDZE KR 99 | % 2 1 0 35 | 35.0 0
2 B HiBK 11 |mk g 3 1 0 29 | 29.0 0
2 B FREH 49 |#EK K 2 1 0 29 | 29.0 0
4 B BAX 29 (RE EF2N 3 1 0 21 | 21.0 0
5 B HAX 82 |WF =E 1 3 0 54 | 18.0 0
6 B K 1 |lBs ZFE 4 5 0 50 | 10.0 0
6 B PEJ 44 |tRIE WA 3 0 0 10 | 10.0 1
8 B BEX 11 |5 #KER 4 4 1 28 | 9.3 0
9 B eES]| 82 |\ EE® 3 6 0 50 | 8.3 0
10 B [ESS 19 |EE =iA 2 2 1 8| 8.0 0
10 B EiEX 2 |tkB BE 3 1 0 8| 80 1
12 B Efnfii 13 |@ER AE 2 3 0 20 | 6.7 0
13 B BEX 7 |mE £=EF 2 5 1 20 | 5.0 0
13 B Bt 10 |tk A 3 4 1 15| 5.0 0
15 B FEK 29 (WA @+ 3 6 0 29 | 4.8 0
16 B HiEK 5 | K 4 5 0 23| 4.6 0
17 B HAX 2 (Ao st 4 1 0 4| 40 0
17 B HigK 21 |\ =X 4 1 0 4| 40 0
17 B BAX 18 |l BHE 3 1 0 4| 40 0
17 B FEK 2 (e &K 1 1 0 4| 40 0
21 B HAX 33 (4@ 3 1 0 2| 2.0 0
22 B [PESES 21 [A#F EBX 1 4 0 6| 1.5 0
23 B HEX 13 |dh# #£X 3 1 0 1| 1.0 0
23 B K 27 |&BE #ENN 3 1 0 1] 10 0
23 B EDZE KR 33 |5EIT fEK 1 1 0 1] 10 0
26 B Bt 26 [/NE B 1 2 2 0| 00 0
26 B FREH 7 |mEx i 1 1 1 0| 00 0




